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Defence and Strategic Studies
Paper II

TeT Tel WHAReh 3T
qyatreRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YU THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

U Sed. €@ YA e

India carried out series of nuclear

tests at Pokhran.

(A) 7th and 8th May
(B) 21st & 23rd May
(C) 11th & 13th May

(D) 9th & 11th May

Which of the following countries had
built the “Barlev line linear defence”

during the Arab-Israel war of 1973 ?
(A) Egypts

(B) Syria

(C) Israel

(D) Jordan

.ﬁ. ........................ ,]998 q%ﬁ. WUT _a.a
HRAM 39 <=l ATl JETeTqH ol

N

TAfSa sl Bidl.

(A) 7 ® sfor 8 9
(B) 21 # anfor 23 |
(C) 11 H 37for 13 H
D) 9 & for 11 A

19731 SWA-THTA Iga ' ARE
e fafr fedm=a"’ hiven 9 SHRET
g ?

(A) =

(B) f&en

(C) oua

(D) SfEq

[P.T.O.



Defence Technology and Trade
Initiative (DTTI) is the Defence

Framework Agreement between :
(A) India and Israel

(B) India and Russia

(C) India and United States

(D) India and ASEAN

The term ‘Military-Industrial
Complex’ gained popularity after its

use by which leader ?

(A) President Dwight D.

Eizenhower
(B) President Harry S. Truman

(C) Prime Minister Jawaharlal
Nehru

(D) President Franklin D. Roosevelt

European Space Agency’s main

space port/(Launching Site) lies in :
(A) Kourou-French Guiana

(B) Moresby-Papua, New Guinea
(C) CERN, Geneva

(D) Catania, Italy

3.
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fewg etaist e Iz sMfvmufess
(1. 3. I. 3F.) T Wclicideh] I
T NSl TR HAhlal TR 3T ?

(A) YA o701 S&ad
(B) yra swfur IferEn

(C) 9RA 3Ty FAEds ey
(D) 9RA i S

Hased eftEifies agred’ & wWE

AN o N NN o oY
Wcdletten] enlVlcdl Acdqifoo AHld slcdl ?

(A) TsITEAe Edlee €l 3TEeaier

(B) Tediemel &0 A Bl

(C) Ud YHUM SOl "g®

(D) TSEAY Thehiod Sl TEEee
A SfaRel Jed= e faiel d
(g& Foart 5 = foswmf e
(A) FSE-%Hd TN

(B) HR¥sit-urgast, = fifn

(C) Hizemud, foifea

(D) a3, seat




The UN agency which looks after the
problem of refugees is .............

(A) UNHCR
(B) UNICEF
(C) WHO
(D) UNDP

The term ‘Equal Security’ is related

with :

(A) The UN High Commission for
Refugees

(B) The UN Universal Declaration
of Human Rights

(C) Security Council
(D) League of Nations

Which one of the following members
are composed in the International

Court of Justice ?
(A) 15 members

(B) 20 members

(C) 35 members

(D) 50 members

In which year did Chernobyl
disaster take place ?

(A) 1989
(B) 1988
(C) 1985
(D) 1986

SEP - 16221/II—A
e B Jeial SUHHeAl ThREd 319 :
(A) J. T TH. G AW
B) g T. IE. . 3. ThH
(C) ==, WA .
(D) J. . . .
T RET’ § Eeierueht Il ety
e ?

(A) T Tegren fraffaamaner o

Solell 39 ST

(B) 9qaFd USTAT HEAT TIFHR1AT

STTE AT/ SISO
(C) e |fidt
(D) sz

ETetad®] fodl ¥e8 SIaurse ™
A 3 ?

(A) 15 9=

(B) 20 99

(C) 35 9™

(D) 50 W&

N e a

ETeATeUeh SRl Gt SHifelel 3T

TSl ?
(A) 1989

(B) 1988
(C) 1985
(D) 1986

[P.T.O.



10.

11.

12.

The IAEA implements which one of
the following types of safeguards in
Nuclear Weapon States (NWS) ?

(A) Facility-specific safeguards

(B) Voluntary-Offer Agreement
(VOA) safeguards

(C) Comprehensive safeguards
(D) Type-66 safeguards

In case of non-compliance of
safeguards agreement by state
parties, the International Atomic
Energy Agency (IAEA) reports such

casestothe ....coooeivieeeeeennnan.... }

(A) United Nations General

Assembly

(B) United Nations Secretary-

General
©)
(D)

Conference on Disarmament
United Nations Security Council

In 1978, Camp David Accords were

signed between ............... coceunnnns .
(A) America and Soviet Union
(B) Egypt and Israel

(C) Syria and Israel

(D) Egypt and Jordan

10.

11.

12.
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SUTHYRT T FeHid GRET Wi
UM A 310 ST, STHeeSavl

LA hIOCT TSI hidsi o ?

(A) GRE@Tea fowTe siesst v
HIAd

(B) FR&EETA Uegsh IR

(C) FEHAERTR ST SUASH]

(D) 66-ThR= FIER™U™

FAUTHR G STHASHTE SR TEIeE]
TS o1 T& Tl hetl el T ST
3TU] STl SATART ShIUTRS FeY TEATe dal
H ?

(A) T TS SAHG

(B) ¥ U HEMf=a

(OREREZIETUIEIERE IR R

(D) Hg&I U= GRa qiad!

1978 WL ¥ SRS A= Y TH
UL @R w0 el

(A) eEREm enfn Hga W
(B) 3@ anfor semea

(C) ot s gema

(D) ¥ smfor it




13.

14.

15.

16.

India shares its longest land borders
with :

(A) Pakistan
(B) China

(C) Bhutan
(D) Bangladesh

Identify the correct sequence of
Induction in Indian Air Force of the

following aircrafts in their

chronological order :

(A) MIG, Sukhoi, Gnat, Mirage
(B) Gnat, MIG, Jaguar, Sukhoi
(C) Tejas, Gnat, MIG, Mirage

(D) MIG, Gnat, Jaguar, Sukhoi
The term PGM stands for :

(A) Precision Guided Munition
(B) Poor Grade Munition

(C) Permanent Guided Missile
(D) Precision Guided Military

Operation Sea Waves is rescue and
relief efforts carried out by Indian

Armed Forces in :

(A) Maldives

(B) Sri Lanka

(C) Mauritius

(D) Andaman and Nicobar

13.

14.

15.

16.
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WTATATeh! ShIvTeT SRS MRAT] daid
S HE ANA STE ?

(A) TiferEd™

(B) ==

(C) ™

(D) TR

IRAF g T G Seled derss
faam =1 HTARATER FTE T A
3TTeseT

(A) fm, gER, SfHfe, e

(B) SfHfe, fimr, smeR, e

(C) ds, StAre, fim, s

(D) fim, e, STemR, gek
ST, & hedd BN :

(A) fufgsm mESe e

(B) YR e FfrErwH

(C) T MEeT frmEe

(D) TfasH MESs fafaed

IRAE 1 qaah ‘SfaeE o oy’
% S9E 9 HGd i HIOATHIS! I

fowTolt *RRT BN ?
(A) HeREIES

(B) siteieht

(C) Hif™

(D) 3AM i fheR

[P.T.O.



17.

18.

19.

Operation Maitri, is rescue and relief
operation launched by Indian Armed
Forces to help :

(A) Nepal

(B) Maldives

(C) Bangladesh

(D) Afghanistan

(1) : Peace operations are shaped
by the political imperative to
manage public opinion.

(2) : This imperative is generated by
political sensitivity to

casualties, particularly in what

are essentially wars of choice.
Codes :

(A) (1) and (2) are correct and (2)
supports the statement (1)

(B) (1) and (2) are incorrect

(C) (1) is correct and (2) is incorrect
(D) (1) is incorrect and (2) is correct
India has maritime boundary with

how many countries ?
(A) Seven

(B) Five

(C) Six

(D) Four

17.

19.
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TR =1 A ¢ STRYE T’ ® o=
9 HSd HEE I hHIU I ol
T ?
(A) AUTB

(B) HERIES]
(C) IRy
(D) STHIMETOT

: QraSI-eh AATeT SR HIoaranar
efae erTefeRgR InadA
TEHe R feam <.

(2) : HATETTETS!, foRIoeRt s Jgren
faeshad ofcdd 3TEvaesh 38 §
qSfdeh BBAUUMER & =g
3T whell S

Tehdiah :

(A) (1) 3for (2) ST s-s 3TYA (2)

(1) T TR TR TR
(B) <=1 (1) 3mfor (2) ¥ 9% 3
(C) (1) =R 3 o1 (2) & I+

EIE
D) (1) I @ A0 (2) T R

R
TRATS AT ET TRt Mok Fer
e ?

(A) 9d

(B) =
(C) @&l
(D) =R




20.

21.

22.

In June 2015, Indian Army carried

out surgical strikes in Myanmar to

destroy Militant camps of :
(A) NABN (K) and KYKL
(B) NOON (K) and KYYL
(C) NSCN (K) and KYKL
(D) NNGN (K) and KYKL

Which of the following is not a

member of the Cabinet Committee
on Security (CCS) ?

(A) Defence Minister
(B) Home Minister
(C) President

(D) Prime Minister

The South Asian Association for
Regional Cooperation Charter, it
was signed. Choose the correct date,

year and city ................
(A) Kathmandu on 13th August 1981

(B) New Delhi on 10th December
1986

(C) Dhaka on 8th December 1985
(D) Kabul on 8th December 1979

20.

21.

22.
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RITHRALTA fowereree] =1 Sreva] T

FHIOITEIS! §A 2015 LA HRATH HIARA

ST HiSthel s Hell O JEd el foeg

ELIEE

(A) TA. T &Y. T (F) o701 . 9.
ER

(B) TA. 3. 3. . (&) anfor . 9.
9. T

(C) T. TH. |l. T4. (&) 1for &. 9.
. T

(D) TA. T S T () 30for . 9.
. T

TTATAdR RV FRETfaoIs & fome

HiHd=n Fe& Tl ?

(A) TR
(B) Ll€1:i5ﬁ
(C) rsZaat

(D) TavemH

ek B TR ITh HEgehTd TeeT=l Tl

oA et a1 foew, 96 omfor IR
FreTerad ek gAtg faer .

(A) HBHE 13 MR 1981

o

(B) = faeedt 10

el 1986

o

(C) <@reh1 8 TedsX 1985

(D) wEa 8 fedsR 1979

[P.T.O.



23.

24.

25.

26.

Name the disaster which is caused
due to deficiency of rainfall :

(A) Earthquake
(B) Flood

(C) Drought
(D) Landslide

IAF rescue operations of 2013 North
India floods is known as :

(A) Operation Raahat

(B) Operation Rahat
(C) Operation Rabat
(D) Operation Airlift
Tornadoes are common in which

country ?

(A) Japan

(B) Philippines

(C) USA

(D) Australia

The term ‘Ring of Fire’ relates to :

(A) An area in the Indian Ocean
where disasters occur

(B)

Technique used to control forest

fires

(C) An area around Pacific Ocean
where maximum number of

Volcanic eruptions is witnessed

(D) A military exercise using rings

and fire

23.

24.

25.

26.
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Tl Hual STHed™  @efieraehl
IO START IHId ?

(A) %4

(B) vl X

(C) T=h1dd

(D) TE el

2013 HIeft W HRA S o= R STl
BT N 9od 3feaq TSR W hivre
A F9TE il el @il 2

(A) S T-d

(B) fqe™@ W
(C) ATIE &
(D) RIE T AR

EATAdeh! Il 29Ma eRel e
aed ?

(A) SUH

(B) fwfada

(C) . WH. T

(D) sfEfern

“fo it W & HeheuH Wefterdeh!

HymEl ffeq o ?

(A) fég TeErRIdE star qur 99
MR TS

(B) SHTeTTdtel avren fefaa oA ot

(C) Ufetheh HHSTIE STE1 I Sar=a
ST SATAEIT 35eh TRTeard
freaa

(D) 3T 3Tfor 70T ST |er=ae shaiel
AR GUa

10



SEP - 16221/I1—A

27. Which International Convention | 27. @I MAWEE FEHEcigR I3
applies to territorial waters and TIef¥res Stererd s fafay &= fHfe=a
Maritime zones of a country ? el W[ ?

(A) Kyoto Protocol (A) & U=

(B) M\(AR.P.O.L. (B) TH. W. AR W. 3. T
(C) UN.C.L.OS. (C) g TA. ¥ '@ . wE
(D) S.L.O.C. (D) THE. TA. 3. .

28. Where is the Indian National Centre | 28, 9RdM HeMFRIfST Afedl GRIAR T
for Ocean Information located ? %% HIS L ?
(A) Bangalore (A) STAR
(B) Hyderabad (B) ¥5@Tg
(C) Mumbai (C) g
(D) Kolkata (D) SIeThTal

29. Which one of the following is an | 29. wWeiiciUsh! hIOET 3TI] &I ajﬁ{aﬁ-ﬁ-@
Industrial Disaster ? TR Fafed ST ?

(A) Tsunami 2004 (A) F\ﬂ_wlTl:ﬁ 2004

(B) Uttarakhand Disaster (B) SUEE Jeftel ATI<
(C) Bhopal Gas Tragedy (C) YU ag-Tladr=l gHel
(D) Nepal Earthquake (D) AUTeEHETA “icl';q

30. Identify the correct expansion of | 30, <it. wg. =13 = IgH EEY 3Tl :
G5t (A) TSIUTHRRd WS 39 3=/
(A) Geographical Studies in India .

(B) Geographical Survey of India ®) T A T

(C) Geological Studies in India (C) Tefeffiorpel eI 3

(D) Geological Survey of India D) foeferffse ¥ i s=ren
11 [P.T.O.



31.

32.

33.

The intensity of the Seismic Zone is
measured using which scale ?

(A) Marcelli
(B) Richter
(C) MM
(D) MSK

SAARC Disaster Management
Centre is located at :

(A) Dhaka
(B) New Delhi
(C) Thimpu
(D) Kathmandu

Match the following DPSU’s with the
places they are situated :

List 1

Garden Reach Shipbuilders and
Engineers Ltd

Mazagaon Dockyard Ltd

(@)

®)

(¢) Mishra Dhatu Nigam Ltd
(d) Bharat Electronics Ltd
List II
(z) Bengaluru
(i1) Hyderabad
(i11) Kolkata
(tv) Mumbai
Codes :
(@ B) () ()
(A) @) Gv) @ @)
B) Gv) @) @) G)
(C) @) Gv) G @)
D) Gv) @) G) @)

31.

32.

33.

SEP - 16221/I1—A

ﬁmﬁm\ ﬁsﬁqaj draar qﬁgmmﬁ
@Iﬂlﬂqclvl <h [U[d HISTH[Yeh YA \_Fﬂ% 7

(A) ORI

B) fExx

(C) WH. TH.

(D) TH. TH. .

;%:a IR AT g © a1 fashmft

(A) @Rt
(B) et fewett
(C) foreg,
(D) FEHE
feh Ysciioh Qiclt{ diS{Ech'j‘lt\i Tehed
HIS AR ? @il oo qa&ar=1 ard
SIEDIIRSICIEE
Iqrat 1

(@) TMeAR= fufdeed 3t sfafer

(b) HEFTE efware fafies
(¢) Tageg frm fafiee

oo~

(d) 9RA ol fafiee

Tl 11

G) IIE
@) SR
(iii) ShIcTeRTdl
(iv) 8
i

(@ @) @ (@
(A) @) Gv) @) (G)
B) Gv) @) @) G)
(C) @) Gv) Gi) @)
D) Gv) @) Gi) @)

12



34.

35.

36.

At the end of 1962 war, China
occupied large part of which Indian

territory ?

(A) Aksaichin

(B) Siliguri Corridor
(C) Yatung Valley
(D) Chunbi Valley

The disciple of defence economics

mostly concentrates on :

(A) Pre-war economy

(B) Mobilization of military
resources

(C) Planning, Programming and

Budgeting of resources for

defence requirements
(D) Allocation of natural resources

Which one of the following is
Ricardo’s contribution to defence

expenditure ?

(A) Prohibitive tariff policy

(B) Military Taxation

(C) External Sources of Finance

(D) How to raise Finance Wars ?

34.

35.

36.

SEP - 16221/I1—A

1962 =1 GT=A1 &l =T A=Al

SRV YU ST ST oSl shell ?

(A) STEEEEH

(B) HiciTEl Hfiteh
(C) 3 &

(D) e 8
Y HwEUE I T TReme St

IEITIeh U1 HEHIAY whigd HITAM

AqA TR

(A) JSTqei=! srefegereen

(B) TSR WIEAHORITET i
(C) ERUMAT TR el HLoATEIS!

-~

IR HL0AT@ Sl STQTSTIIeh,

IERISERC I ECapER]
(D) SEfier HeEa=] e

T T Sleieiuen! ReRTe st 2

FIMEEET AN ol 3TE 2

(A) Tfg S gRo

(B) SRl SHIYUTA]

(C) «fgtfa anfeer da

(D) JSHe FE Fhed wAA 7

13

[P.T.O.



37.

38.

39.

40.

Defence expenditure of India has
remained within the government’s
desired objectives of ..................... .

(A) Budgetary balance
(B) Economic stability
(C) Equitable growth
(D) All of the above

..................... was first economist to
consider the implications of defence
expenditure for society.

(A) Govin Kennedy

(B) Adam Smith

(C) Margaret Doxey
(D) Jai Narain Sharma

By which event, India’s Defence
expenditure was suddenly increased
to almost double due to ................. .

(A) Partition of India

(B) Sino-Indian War, 1962
(C) Indo-Pakistan War, 1965
(D) Indo-Pak War 1971

Who wrote the book, “An Enquiry
into the Nature and Causes of the
Wealth of Nations ?

(A) Adam Smith

(B) Malthus

(C) David Ricardo

(D) Jean Baptiste Say

37.

38.

39.

40.

SEP - 16221/11—A
TR TR @ 31 TR Gerd

sfomd Sfesemn um o e 3R

(A) SRR fHTeeeh
(B) amféer feoman

(©) = I

(D) I 98 =h

TR Tl qomH 8 GHSTeR
Il ST ST Wi e eiet et
=g I

(A) Tifed At
(B) ofeH ey
(C) AFRe eferdt
(D) & TEF It

YRATET SRAUed ©d 3T dleal
& Y@ HR

(A) ¥R faursH

(B) 1962 ¥ YRA-=H I§
©)
(D)

‘o gl 3e fg TR e Wi
3 T o9 Sh vH'" 7 Y&k v
fafear ?

(A) sfeq f=g
(B) Hfcord

(C) s=ste el
(D) SA d9e 9

1965 & HRA-UF IS
1971 9 YRA-U IS
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41. In which of the following countries | 41. 3T @reiicieh! HIUET TR ToTH
was Economic Sanction imposed by ey oeel 3 2
US government ?
(A) Tfeqor R
(A) South Korea
(B) STHIIUR™
(B) Afghanistan
(C) Cuba () =
(D) Nigeria IDREIRENE!
42. Britain economic blockade of | 42. 3IfeeraRcn foew ST e Arehsiel
Germany was made official in : Il shell e
(A) March 1912 (A) T 1912
B) March 1913
(B) Marc (B) ®rE 1913
(C) March 1914
(C) 51€ 1914
(D) March 1915
: : (D) A= 1915
43. (1) ‘Geneva’ law is concerned with
the protection of victims of | 43. (1) ‘fSf¥es wrRT’ 71 T¥H Hevid o)
armed conflict. TS ST T&T0T Suamet fifeq eTe.
(2) ‘Hague’ law is concerned with (2) ‘¥ wER B JouSAe Usdl o
the methods and means of Aol oM.
warfare. e
Wehdich :
Codes :
(A) (1) o (2) &R
(A) (1) and (2) are correct
B e 3T (2
(B) (1) is right and (2) is wrong ® ) (2) ==
(C) (1) and (2) are wrong © (2) % ESS
(D) (1) is wrong and (2) is right D) (1) % (2) TR
15 [P.T.O.



44.

45.

46.

47.

Who among the following is an

exponent of conflict-peace studies ?
(A) Rosa Luxemburg

(B) Kenneth Boulding

(C) Herbert Butterfield

(D) Peter Laslett
Who introduced the concept of

‘Public Good’ in relation to Defence

expenditure ?
(A) Kavic, Lorne J.

(B) Kannedy, Gavin
(C) Adolf Wagner
(D) Adam Smith

Defence economics mostly focussed

(A) Post-war economy

(B) Pre-war economy

(C) Allocation of war-potential

(D) Planning and Budgeting of

defence requirements

Which one of the following is an

example of Slow-onset disaster ?
(A) Tsunami

(B) Cyclone

(C) Earthquake

(D) Drought

44.

45.

46.

47.

SEP - 16221/I1—A

Sl ST GTEhdl iU 3T 2
(A) e e

(B) &=9 S

(C) TR TTHITS

(D) R AEAE

TR T Gevid  Tresiiieh
fearel HehoUdl WUHdT: hIU HISe ?

(A) HeEdh, @ Sl
(B) Elﬁ%"T, IR
(C) 3TSfe® AR

(D) 3feH e

T S1efermes fosiod: qeiel Seeher
whigd 3%

(A) SR SAdEE

(B) gSTqal= sreferasen

(C) Fgarad=l oot

(D) STETSIsehTdiel SL&TUT=AT TLST 3o
IREISE

Tt IV ST & Tell- e
fegreeweit ffeq smg ?

(A) g

(B) @R

(C) q=d

(D) Tehicd
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48.

49.

50.

National Disaster Response Force
(NDRF) consists of how many
battalions ?

(A) 12

(B) 17

(C) 25

(D) 27

The name of the Indian Military

wing which has custody of India’s

nuclear triad is ....ccccceevveeeennenn. .

(A) Strategic Air Command

(B) Strategic Forces Command
(C) Strategic Plans Division

(D) Strategic and Cyber Command

Who is currently heading India’s
National Command Authority ?

(A) Prime Minister of India

(B) India’s National Security

Advisor

(&)

President of India

(D) Chief of Strategic Forces

Command

48.

49.

50.

SEP - 16221/TI—A
Forte fegie fredi Wi (TTSteTRus)
= foRdt Serfeem e ?
(A) 12
(B) 17
(C) 25
(D) 27

T hEZ S YA ATfUae € 3T9d

T AT ASHUT IM@AT FHT

(C) WSk = fediom

(D) VT < TEFR HArS

IRATd ST & sl a9
qRIEeda SIvT=aT STfeTeett

FAA ?

(A) 9= qI9EH

(B) wRard TUSEHE HI&TT HeellR
(C) YRAr et

(D) €S wiEae wure qqe
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SEP - 16221/I1—A

51. Identify the correct code by | 51. 2o HHsh I A& fooiedn s 2o
matching the events in Table I Haes 11 7 Tedal a8 feor 3.
with the year of their occurrence in = 3TH T 3NeEn.
Table II :

ane e 1 (T
Table I (Events) .
(@) SRR il
(@) October Revolution
(b) wreEa e faurse
(b) Collapse of Soviet Union .
(©) T 2R St
(¢) Twin Tower Bombing 0
(d) IfEE S
(d) Iranian Revolution
2de 11 (I9)
Table II (Year)
@ 1979
@ 1979
(@) 1917
(@) 1917
(ziz) 1991
(Tir) 1991
(i) 2001 @) 2007
Codes : :
A @ G GiD) (@) &) @ @ GG G)
B) Gi) Gii) G (Gv) B) @ @) @) (o)
C©) G) Gi) Gv) G (C) @) @) Gv) @)
D) @) @) Gv) @) D) G@i) @) @) @

18



52.

53.

54.

Which one of the following organs
of the UNO has ceased to exist ?

(A) Security Council

(B) Trusteeship Council
(C) Economic and Social Council
(D) Human Rights Commission

Defence policy of a country aims at :

(A) Maintaining International

Peace

(B) Safeguarding Territorial

Integrity
(C) Protecting National Image
(D) Preserving Sovereignty

Who rules ......ccceuuuuee. commands the

heartlands. Who rules the
heartland, commands the World
Islands. Who rules World Island

commands the World ?
(A) Western Russia
(B) Western Europe
(C) East Europe

(D) Central Europe

52.

53.

54.

SEP - 16221/I1—A

ETeTeTdeh! HIVIA STFEHSA FeAeTd TIe

TS SUHEEA AR

(A) e |fidt

(B) fovew wew

(C) TR Mfor |HIfSTer Hew

(D) AMe SAfHR SRR

SHIVTCATE! STT=AT FRET0T RO 39
(A) SIS Sadr Tev

(B) WY ThicHshd™ T 0l
(C) Usgrt yfeqwn s

(D) HEYHE fesmfan

......................

BE-oTgeoR NI, A= Be-oigar 319,

e fovare seR §x, Sqrn fave

S2ER A, T SEER. T
(A) ufeem En

(B) dfv=w I

(C) gd U

(D) 9&9 U4
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55.

56.

57.

In 1943 Mackinder reassessed his
theory of land power and came with
the concept of ‘Midland Basin’.
Which of the following regions is not
part of Midland Basin ?

(A) North Atlantic Ocean

(B) Western Europe

(C) Western United States of

America

(D) Eastern United States of

America

According to Alfred T. Mahan what

is/are the element of Sea power ?
(A) Physical configuration

(B) Geographical position

(C) Extent of territory

(D) All of the above

Who was a key proponent of

‘strategic bombing in aerial

warfare’ ?

(A) Giulio Douhet

(B) L. B. H. Liddell Hart
(C) Mao Zedong

(D) None of the above

55.

56.

57.

SEP - 16221/I1—A

1943 HEY Heh TS AT Y-l Sl
fagrar g STaed et sfu ‘ frgdle

N e

fg' & ThoUdl WISl STy

vl gev1 ‘ frecie ofem’ = 9rt @r 2

(A) W 3EAEH HEMETR

(B) 9f¥=d glg

(C) ufyem Ty T ARG

(D) J& §g T SRR

ACHS <. HEM ATSAT WUTATTER

T IeTush! HIUMI/HRIOA ¥ HHSH

Ol WM e ?
(A) TEfTR ST
(B) siriifersn <o
(C) WrRf¥reh foer
(D) acTiRt &d

‘T FsuSdidia dHReh S’ g =l

JGasTa GLEhd I IARd 7
(A) Sfi. TrE

(B) T oft. wH. faed @
(C) ==l gt

(D) eRIeTsh! HIvfiEl el
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58.

59.

60.

The book on Thermo-Nuclear War

was written by :

(A) Herman Kahn

(B) Robert Kaplan

(C) Henry Kissinger
(D) Lawrence Freedman

The system theory is associated

with :

(A) Mortan Kaplan

(B) Hans J. Morgenthau
(C) Richard Snyder

(D) Burtin Sapin

Who was the first scholar use the
word ‘Superpower’ as it is currently

used ?

(A) George Perkovich
(B) Nicholas Spyman
(C) Kenneth Waltz

(D) John Mearshimer

58.

59.

60.

SEP - 16221/I1—A

" orfperita aR’! &l St gEIeh

r\r\\7

JEIcTdeh] hivel e fafeal
(A) TEHT hgH

(B) UsE el

(C) & feordlisi

(D) «= fread

gt fagia (fe fagim fuerd) =
WeATTdehl HIUMeN Fefed e ?

(A) W& FHUa™
(B) B . HEeq
(C) f=E T

(D) FH HdA

LT Jafard 319  HerE’ A1 STsaT=

gAY UYH R0 r0|t{l{0idlﬂ °I?>c'1l ?
(A) SISt genifa=

(B) fehrerd T

(C) #Ay sieew

(D) S AR
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61.

62.

Which one of the following is the

origin of strategic studies ?

(A) Thucydides writings on the

Peloponnesian war

(B) Edward Meade Earle’s Seminar
on grand strategy and conduct

of war

(C) E. H. Carr’s ‘Twenty Years
Crisis’ that presents a critique

of Liberalism

(D) Hans Morgenthau’s work on
‘Politics Among Nations : The

Struggle for Power and Peace’

Name the American diplomat who
wrote the ‘long telegram’ which
formed the basis of American policy
of ‘containment’ towards the Soviet

Union during the Cold War :
(A) Medeleine Albright

(B) George Keenan

(C) Ralph Bunch

(D) Dean Rush

61.

62.

SEP - 16221/I1—A

AT A STHE

WA HI0A 3R ?

(A) FHEESHAT UM e
ICEERIET

(B) TS Hie 37l A=Al WMl S

o o

Ig THASHER Sdaciel ==ies

(C) 3. WA &R = 'TEE TR

FHIEHG'' I SERAIATRTIUA

AEIREIRCEECRIG TS

(D) g whfAey aren ‘dffafess o

T : T =S A% qiaR 3fe 9’
SR eHfae sAfushrar /@ 9
< ‘e 2ferm’ fafea & eiagsmda
RO G S

(A) TsoH TeTeEe
(B) wiftst foae
(C) Teh &4

D) BH W




63.

64.

Who is the author of Man, the State,

and War ?

(A) Stephen Krasner

(B) Kenneth Waltz

(C) Robert Keohane

(D) John Mearshimer

Who wrote the book “India at Risk” ?
(A) Sardar Vallabhbhai Patel

(B) Jaswant Singh
(C) C. Rajagopalachari
(D) Atal Behari Vajpayee

63.

64.

SEP - 16221/11—A
“, it e, sfe anr’’ a1 T e
HIU 3ME 7
(A) EIHA BN
(B) =y dfced
(C) U2 3T
(D) S HfX

“ggia de ek § gk it fetfgat 2

(A) TER T@IME T
(B) w&ed fos
(C) . TSTaTer=Ry

(D) 27 fagril arsru=

65. Who is an important Air-Warfare - .
theorist among the following ? 65. . 1
HEal ?
(A) B. H. Liddle Hart @A) & . fred o
(B) Alfred Thayer Mahan (B) ToHE UPR TEH
(C) Billy Mitchell (C) faett o=
(D) Carl Von Clausewitz (D) hld =M FArSIaeS
66. Which famous person made the | 66. ‘‘SFdia renfTer 2o =AM S
following statement : “The seed of A T SR shel S € faem
war in the world is industrial and EARIN ggﬁqrg HFdT Dol AR ?
commercial rivalry”. A) et
(A) Mahatma Gandhi .
(B) #@EA =R fov
(B) Martin Luther King )
(C) ~ToEd Hedl
(C) Nelson Mandela
(D) Woodrow Wilson @) T
23 [P.T.O.



67.

68.

69.

Which gas was released during
Bhopal gas tragedy ?

(A) Nitrogen cyanide

(B) Methyl isocyanate

(C) Methyl nitrate

(D) Methyl cyanide

Assertion (A) : Terrorism makes

a country’s politics difficult and

complicated to handle.

Reason (R) : International terrorism
is a dangerous and harmful to the

human life.
Codes :

(A)
(B)
(C)

Both (A) and (R) is correct
Both (A) and (R) are incorrect
(A) is correct but (R) is not

correct

(D) Both (A) and (R) are correct and

(R) is the correct explanation of (A)

Who among the following argued
that “Terrorism is not like a disaster

before which we are helpless ?
(A) Baraq Obama

(B) George P. Shultz

(C) Bill Clinton

(D) George W. Bush

67.

68.

69.

SEP - 16221/I1—A

AT STTesd AT TeleA=AT Sosd ShIoTdl

o S qSell ?

(A) RIS APAES

(B) fHa™a a2

(C) Tham™@ Are

(D) fHare grEEe

faam™ (A) : STW@ARHS  <TMHE
{S{en [LU] GhdﬂIUI o 3T|ﬁ3T
AR BTSN
EldlodUQIHldﬁl rcl'ﬂbddl
o 2.

HRUT (R) : ARSI TEIaarg &l
el SaTIHIS]  ©ITdeh
anfor gIfTeheh TR,

et

(A) (A) 37T (R) Tt Taem alsR 31red
(B) (A) 31fur (R) <=1 faem = a7ed

(C) (A) faum seR 31 9o (R) fasm
T 38

(D) (A) 3T (R) S8t faem ssR 31red
afor (R) faum © (A) faumm=
TR 3R

“ZEITdAIe B el STUIERE el foh
T TS 30T AT Bid 3/l alie
faum ot el R ?

(A) SRk STreTHl
(B) St ot. o
(C) foat feretred
(D) SISl Sy, 99
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70. Correctly match the following lists.

List 1 (Terrorist Group) and List 2

(Major base) :

List 1

(1) Lashkare Tayyaba

(2) Hamas

(3) Hezbollah

(4) Islamic State of Iraq and Syria
(ISIS)

(@) Syria

List 2

(b) Pakistan

(¢) Lebanon

(d) Palestine

Codes :
(A) (1 a),
(B) (1 a),
(C) (1 b),

(D) (1 d),

(2 ¢), (3b), 4 d)
(2 6), B c) 4d)
(2d), 3o, (4a

(2 a), 3b), (4c)

SEP - 16221/11—A
70. TUH ARM TG sholedl SeaRl e

19 37t fgdi™ A Sg3Tdaredre doardl
3@ hell IR, AT STgeh  Siredl
ATl .

et 1
(1) TR d=a
(2) T
(3) fessteeen

(4) TEAHS W2 ATH e Ts i
(SETHTETH)

qrer 2

(@) fodm=r

(b) dIfeRET

(c) MM

(d) HereTEd

Hehdiah :

A 1a) 2c), 3D), 4d
B) 1a), 2b),Bc), 4d
C) 1b), 2d),B¢c),4a

D) 1 d), (2a),35b), 4c)
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71.

72.

73.

The treaty of Rarotonga is a ......... .

(A) Nuclear Arms Reduction
Treaty

(B) Nuclear Weapons Free Zone
Treaty

(C) Chemical Weapons Free Zone
Treaty

(D) None of the above

What is the name of the

organisation which is the

implementing body for the Chemical
Weapons Convention (CWC) ?

(A) International Chemical

Weapons Agency

(B) Organisation for Implementing

Chemical Weapons

(C) International Organisation for
Verification of Chemical
Weapons

(D) Organisation for the
Prohibition of Chemical
Weapons

The “Atoms for Peace” speech was
made by which American President
in the United Nations General
Assembly ?

(A) Woodrow Wilson

(B) Franklin D. Roosevelt
(C) John F. Kennedy

(D) Dwight Eisenhower

71.

72.

73.

SEP - 16221/I1—A
TR & Gl Eeitel IRt Jefd
e :
(A) oTfvdeh IS U Tefl

(B) sTfvaeh TrEamed Tod & el

(C) TIETh TS TE & qeff
(D) sIeden! IRl ATEl

NEIEIEE ?I{OII{OT@II@ICIT;“II

framr=h

AN CTATAUhT hITdT FEEAT

H ?

ARSI TS AT A

(A)

ErEfas sreErEr=ar gt

TAASTSTIU HIOM. TEEA

(B)

A ITETETET dUTHUT

(frdemon) +OM AW geed

TR YRS Ufdeiel Shaom
g

(&)

(D)

T AT ST St 1y
B TSR To[0T ST =AT ShITeT
e fea 2

(A) T foeed

(B) ®hcid El. &I
(C) S Th. et

(D) Sl TSR
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74.

75.

Which one

International Organisation was

of the following

established to verify the obligations
of the members of the Nuclear Non-
Proliferation Treaty (NPT) ?

(A) Organisation for the
Prohibition of Chemical
Weapons

(B) Implementation Support Unit

(C) International Atomic Energy
Agency

(D) International Monitoring
Stations

Arrange historical stage of warfare

in its chronological order :
(1) Nuclear Warfare

(2) Trench Warfare

(3) Tank Warfare

(4) Cyber Warfare
Codes :

(A) (1), (2), 3), (4)

(B) (4, (3), (2), (1)

(C) ), (3), (1), 4)

D) (1), (4, 3), (2)

74.

75.

SEP - 16221/I1—A

U JHRERT hINER WIal sholedl

TSl Odaedl glhdr=l T8I

FLOIHE! CTATeTIh! ShITd] SeeAT T

HOIT Al TR ?

(A) TS ISR Yfasel STefondd

e

(B) SAHASSTEN it Hed Shivl

RUES
(C) ST 0] Fell Foed
(D) STAWEEE =01 oM RIM

JSTRR=A Ufqerfas o= e
FHBFUETEIR AU &

(1) eAfvereh Jg

(2) @k Ig

(3) TATEl ggusdl

(4) HEeR UGl
Hehdich :

A) (1), (2), (3), (4)
(B) ), (3), (2), (1)
(C) (2), (3), (1), 4)
D) (), 4, (3), (2)
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76.

77.

78.

Which one of the following is not

related to trade ?

(A) SAPTA

(B) TRIPS

(C) WTO

(D) NPT

Mutually Assured Destruction

TNEANS weeneeeeeeeeeeeeeeeennn. .
(A) Retaliation and destruction of

enemy after attack with

conventional weapons

(B) Retaliation and destruction of
enemy after attack with

chemical weapons

(C) Retaliation and destruction of

enemy after attack with nuclear

weapons
(D) None of the above

Restricting research, manufacture
and deployment of deadly weapons

of mass destruction is called ......... .
(A) Arms Race

(B) Sanctions

(C) Disarmament

(D) Arms control

76.

77.

78.

SEP - 16221/11—A
JEcTieh! ShIUTT &6l SATIRIST Haifed
TRl ?
(A) TR Geed (TE.UULELT)

(B) I (2.3 3. 9.T4. )
(C) T=g.2L.31. Heed
(D) TH.GLE.

yad (THE) foAmm=l s WU

(A) TRUREF ITEFTEATEAT geATH AT

gfehTcHeh hRETs e I faTe]

HL0

(B) TG ITEATST=AT g AT dl

gfahRIcH® HRATE HEd IE

fommeT o

(C) 3TfUgeh BeedT R UldenTcHeh hIaTS

o e foAme e
(D) sRIeTden! IRl ATEl
HeleAede gfqeas, 3caea i ye=e

"I{'{‘i‘él{ S ST TSl 0T

T STHASA Y AT
(A) JETE TEl S WU
(B) feie e/@ womEmE

(C) Tm&itentor 3 wuramd

(D) IS0 H U
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79.

80.

81.

Which one of these International

Organisations issues common

control lists (CCL) of items with
potential dual-use applications that

require export licenses ?

(A) Australia group

(B) Nuclear suppliers group
(C) World Health Organisation
(D) Wassenaar Agreement

The use of ‘Anthrax’ began in which
War ?

(A) Gulf War

(B) First World War
(C) Second World War
(D) Korean War

Choose the correct author of the

statement below :

the art of the
dialectic of force or, more precisely,
the art of the dialectic of two

opposing wills using force to resolve

“Strategy is

their dispute”.

(A) Andre Beaufre

(B) Robert Osgood

(C) Liddell Hart

(D) Carl Von Clausewitz

79.

80.

81.

SEP - 16221/I1—A

qEIATdeh] IV SRS FHeA

T SgAEET SToRer At
WA AR hell 3¢ d ATTERIERK
fafay =t A9 Fed o SR

el Mg ?
(A) reedtan g

(B) STECRR T e

(C) SITfdeh SR HEe

(D) THAR IR

IV FETd * Y = AT e
gredt ?

(A) sTErd I3

(B) Wfecdd el

(C) TN #8gS
(D) =TT I§

Tl SR 3T e Sfesel

“Imfieral & §gIcHs JaTel Shell 318
fopan wfeTam ey Trmaa X & S9N el
e e < foeg ToomEl admEn

IR A=A d1g s fauarErdt gar’

(A) aq”‘gsgm

(B) Ve E[S
(C) dred =@

(D) el A FARSIEAES
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82.

83.

84.

Which one of the following North-
East States of India is surrounded

by Bangladesh from three sides ?
(A) Assam

(B) Tripura

(C) Meghalaya

(D) Arunachal Pradesh

“One for all, all for one” is a concept

related to :

(A) Military Alliance
(B) Collective Security
(C) Deterrence

(D) Detente

The fundamental rights have been

given in the Indian Constitutions :
(A) From Articles 12 to 35
(B) From Articles 13 to 36
(C) From Articles 15 to 39

(D) From Articles 36 to 51

82.

83.

84.

SEP - 16221/I1—A

AN A ~
HIAT=AT ClledledYehl hlUTCHT  {ISYTA]

SNSRI HHT I8l SIS TNH 3Ted ?
(A) FEH

(B) frqu

(C) Heer

(D) STRUTEAYRY

"Rl 3 9 SRS Wk ®

Heheqdl IV Hafd sme ?
(A) TR AR

(B) HHfesh H&m

(C) wled

(D) TumE Ao

TR GiTEMmeS qayd ga +Is foal
e ?

(A) 12 9 35 o™
(B) 13 d 36 he™
(C) 15 d 39 ™

(D) 36 d 51 o™
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85.

86.

87.

Who introduced culture into modern
security studies by developing a
theory of strategic culture to

interpret Soviet Nuclear doctrine ?
(A) Jack Snyder

(B) Thucydides

(C) Machiavelli

(D) Kenneth Waltz

Who the

among following

propounded ‘National Character’ as

one of the elements of Sea Power ?
(A) Carl Von Clausewitz

(B) W. Mitchell

(C) Jomini

(D) Alfred T. Mahan

Which International treaty gave rise
to the idea of Sovereign nation-

states ?

(A) Treaty of Westphalia
(B) Treaty of Versailles
(C) Concert of Europe

(D) Treaty of Rome

85.

86.

87.

SEP - 16221/I1—A

el snfoaek qragome o sy
AT AT GEhdl FHAATA

YS! AR SEhden fagia i
fawfaa wan ?

(A) Sl HIEX
(B) dieteq
(C) Hahagelt

(D) Y dfees

“Hugl gmeiEeEl Tw ues WUH
T eI /e o’ 3™
IV A ?

(A) FE o Aoy

(B) =g foera

(C) SifHt

(D) 3Tehe . HeM

HITTCAT STTAATSLTT TR Td |

- Geheudl Seard 3Telt 2
(A) IEHIfTArE=n T8

(B) =EHier=l a8

(C) e 3F T

(D) Tw=T T
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88.

89.

90.

“States are motivated by morality
and values.” This statement is
related to :

(A) Liberalism
(B) Constructivism
(C) Realism

(D) Idealism

‘Security dilemma’ refers to which
one of the following ?

(A) A structural nation in which
states attempt to look after their
security regardless of other
states intentions which leads to

rise in insecurity

(B)

Offensive posture of any nation-

state

(C) It is a dilemma a state faces
when constructing national

security plans

(D) Where states help in spreading

instability and conflict between

other states

The origin of the state is not based

on :

(A) Theory of Divine Origin
(B) Social Contract Theory
(C) The Theory of Economics
(D) The Theory of Force

88.

89.

90.

SEP - 16221/I1—A

“o= @ Afdear stftn e A 9Ra
Tgard’’ 7 faum e gefia e ?

e fgan v feerdt @eferden!
THEN Gy quifod ?

ol

R

(A) 27T TATeHs aikferdt sammed I
T AT GLET eIl 3R TSAHE
STEfaraa= eHen YR <A

(B) hIVATE! TSI 3Rk fe=Al

(C) g Taaret Ui HUaT Fe aar
HXaETET fgen At

(D) Siegl ToF 3R ToAmHe TR &ifur
TS gEEd

4 o TR O o e | o R
(A) vaiie fasd

(B) wmIfSeh R fagid

(C) srefRmeTan T

(D) v fagmE
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91.

92.

93.

94.

Which of the following statements
explains the concept of collective

security ?

(A) Principle of one for all and all

for one
(B) Principle of all against all
(C) Principle of few against all
(D) Principle of no one against all

Who founded the Zeitschriff fur
Geopolitik (Journal for Geopolitics) ?

(A) Karl Haushofer

(B) Zbigniew Brzezinski
(C) Friedrick Ratzel
(D) A. T. Mahan

The Strait which
Mediterranean Sea to the Atlantic

connects

Ocean is :

(A) Gibraltar Strait
(B) Bering Strait

(C) Bosphorous Strait
(D) Bab-el-Mandab

Which political thinker wrote ‘The
Republic’ ?

(A) John Locke

(B) Aristotle

(C) Thomas Hobbes
(D) Plato

91.

92.

93.

94.

SEP - 16221/I1—A

EeiTerisht hiord faem wmfesd e &
Hehoodl T HId ?

(A) HarErSt Tk S0 ThES! Hel 3 vl
(B) gaifasg Td ¥ a<d

(C) walfaeg =@l § a
(D) Taffeaiel hIvfier Amer

“Geegeis W fSedifads’ (SHA
s fSeTuifafesd) =i Mg ol
el ?

(A) T BT

o o~

(B) =ifdfua sfeifsr==h

(C) Hhels e
(D) T 3. "W

NN A

Tl TG whelell THSEA! § YA 95
3T STecAifedh HeTR AT Sied :
(A) TSsTees= gt

(B) STt wgeat

(C) SIFhRY FHGEA!

(D) E-3TA-HeST&

‘“fe frufserer’ e Teie foemEam
fofect ame ?

(A) S Tk

(B) sifrea

(C) ofmg Bl

(D) =i
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95.

96.

97.

Samuel Huntington’s Clash of
Civilizations” argued that the
principal patterns of conflict and co-
operation in the world were shaped
by :

(A) Nation States

(B) Political Leadership

(C) Nationalism

(D) Culture

As per Colin Flint each country in
the world defines its geopolitical
code, consisting of five main
calculations. Which of the following
is not part of that ?

(A) Who are our current and
potential allies

(B) Who are our current and
potential enemies

(&)

How can we maintain our allies
and nurture potential allies

(D)

How can we be friends with our
current enemies and emerging
threats

The book ‘Logic of Scientific
Discovery’ is written by :

(A) David Hume
(B) Kenneth Waltz
(C) Karl Popper
(D) Karl Marx

95.

96.

97.

SEP - 16221/I1—A

5 5 SIS
e’ a1 fagiar o/ Jfrerg et e

ifeqaamd Ten 3TR.

(A) T T

(B) TSTehId Aqc

(C) Tgar]

(D) w&Fl

FHIei frieea BOvaIHR STded Feidh

QUMY WA e Y-UShiE Gahd

FHAE. d e H&H HHHLOMH S
WAk HIUd IR AT FHIH L=

AT AR ?

(A) T9el aaHE STt Gure fasRrse
I 3G

(B) 379t AN SV HUTSH IR 0
3R

(C) SAT90T 9 aq FHERrSiet ey
*4 FH@rfera 39 AT Hered
frarseelt Ty %9 i &

(D) AT ST IFACIE S0 Fre
et weft W R

‘AT offe wRifeftrer fewwegdl’ ®
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98. Who is an important Air Warfare | 98. Wcliciish! IO Teh okl He<dTH]
Theorist among the following ? %T:l'l'sc—'g@ fagaer a1’ ?
(A) B. H. Liddell Hart (A) &t wH. fasa e
(B) Alfred Thayer Mahan (B) am IR Ha™
(C) Billy Mitchell ©) Fcht frda
(D) Carl Von Clausewitz D) e G e
99. Which famous person made the
P 99. ‘' SfrEnfitw 9 sATEEfE Tut ¥ Ny
following statement. “The seed of
d Sl Jgra sl 318, 18 faum
war in the Modern World is R R
HI UG KA Sol 3R 2
industrial and commercial rivalry :
A) TEE e
(A) Mahatma Gandhi (A) e
(B) Martin Luther King (B) TR T
(C) Nelson Mandela )
(D) Woodrow Wilson (D) Tgﬁj e
100. What is the purpose of neutron | 100. =M T 7] FE R ?
ing ?
scanning ? (A) VTR e 3 Aot ey
(A) To detect cancer cells in the
body (B) HeTmHa Soh1d Jeho[d  SATUTCICT
(B) To detect contraband items in EICERICE
containers .
(C) drorgear=n vy =o
(C) To detect submarines
(D) For scanning documents (D) STEUATE dRHEA BHAT )
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